TH3EE  EFRATER

GEES Y|

(1) K&
Gl
HettEtE > A (Cs—134, Cs—137) : &HSIZB W TR
T PRIk
HettEtE > A (Cs—134, Cs—137) : AHSIZB W TR
(2) EEH
Gl
Cs—134 : EHLRIZIB W TR
Cs—137: 3.9 ~ 63 Bq/kg (BZJR)
AV
Cs—134 : EHLRIZIB W TR
Cs—137 : 0.96 ~ 20 Bq/kg (BZJ2)
(3) JELLBREE
a. T
Gl
Cs—134 : AR ~ 54 Bq/kg (HZJE)
Cs—137 : At ~ 1,400 Ba/kg (RziE)
b. ZEfEfR &=
#JIl0.02 ~ 0.09 uSv/h
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. KE
RIHL :
R wmn | x| AR 2k —RoRn O T BRI (Ba/L)
28
© | [ okm [k w | A | ss | TAHPEE ~ v 2 i
Ji 5 . . | DRAKTR i = WL | AR E 3
No. Kbk A4 HTHTAS o) | (e o] (cm) (mS/m) | (mg/L) [ () Cs-134 Cs-137
. 5ATH 2 20.2] 0.4 12,7 0.0 WIBWIKAOREREEOTE i >100 13.6 <1 0.7 <0.52 <0.62
1|1 g {1 KR =
" f it LLASA | /AN 127 0.5 12.3] 00| MzVKAORREHOE [ >100 280 al o4 <0.62 <0.42
. e 5A7H i 15,7 0.4] 13.9]  0.0] WBVRHBOREHE O " >100 255 <1 1.1 <0.61 < 0.50
2|l il i 5
d i e 1HsH | 4w | 10| 03] 13.0] 00| Wzvmmomkzse o 1 >100 910 3| 16 <0.58 <0.65
5A8H it 20.3] 0.3 14.3] 0.0 WBWKAOFESAEEOE " 85 13.0 3] 2.0 <0.74 <0.62
. 8H3H [ 3.1 0.4] 24.3] 0.0 B % VR I D Bk 3 >100 13.8 3 1.8 <0.62 <0.77
EIPN] EIRIREE -
A BRI Bartt L1IA10A it 13.4 0.4] 12.6 0.0 TR I D Fr I e 15 OV 35 f 42 9.8 12 4.8 <0.56 <0.57
2H4H [ 4.3 o2 38 0.0 B % WK B D 3 e >100 12.9 <1 0.6 < 0.66 < 0.60
N . 5A8H it 22.9] 0.4 152 0.0 WBWKAOFESAEF O W >100 8.9 1 0.9 <0.53 <0.57
4R K i —
e T R patr 11H10H [ 3.1 0.4 12.8] 0.0 B 2 WK B D 3 e >100 7.4 3] 2.1 <0.58 < 0.60
R 5A7H it 18.3]  0.7] 13.0] 0.0 kA DK, 3 80 9.1 6| 4.6 <0.74 <0.57
5 k=Yl 1R H &7 S
n SR il 11H9H E] 18.0 0.5] 12.7 0.0|  BI%WIKI Ok % i O 8 i >100 14.4 2 11 <0.53 < 0.60
5A7H it 213 0.7 9.4 0.0 K 7D Bk i >100 5.6 2 1.8 < 0.60 < 0.50
R . 8H2H [ 27.4] 0.5 21.8] 0.0 B % VR I D Bk e >100 7.4 12| 5.0 <0.72 <0.64
6 HIR I 1B m

BRI S el 11A9H 2 15.3 0.7] 11.9 0.0 B % R 70 Bk i3 80 9.0 1 1.3 <0.57 <0.57
2A1H [ 2.4 0.4 2] 0.0 B % W R I D AR 3 >100 18.0 <1 0.6 <0.48 < 0.41
5A7H 2 3.8 0.8] 92 o0 B % VR D ik " >100 6.3 2 1.8 <0.52 <0.75

N . 8/ 2H [ 3070 0.7 262 0.0 B3 % VR I D ik e >100 22.8 3] 4.0 <0.70 < 0.60
7 VN XA m

BRI FEH el 11A11H = 11.4 0.5 11.0 0.0 IR Dk b5 >100 9.7 1 1.1 <0.45 < 0.66
2A1H N 0.4] 0.4 2.5 0.0] WBVIRHDRLEH O e >100 11.0 <1 0.8 <0.61 < 0.60
5A7H it 23.1 0.5 13.5[  0.0[ BIDWRADREAEH O " 43 9.3 13| 9.5 < 0. 60 < 0. 60
8/2H I 29.6]  0.3] 26.9] 0.0 BV IR B0 Bk e 84 13.6 5| 4.9 < 0.64 < 0.65

8 I i 7l
AL LI A el 11A1LA 2 13.8 0.7] 12.3 0.0 B % WK A D 3 i3 33 12.8 9 7.0 <0.58 < 0. 60
i 2A2H INE 0.9] o3 21 o0 JKH-DH; F >100 18.6 1 1.3 < 0.66 < 0. 60
J 5470 & 20.2]  o0.2] 16.2] 0.0 JR IO R P A5 OV B (3 9 9.8 39 56 <0.58 <0.66
8H3H [ 26.5 0.2 24.3] 0.0 K 2D Hifk e 85 9.2 6| 4.9 <0.78 < 0.64
9 Bl 16 N
BRI B R el 1LALLA it 12.8)] 0.3 1227 0.0 B % VR D ik 3 90 13.9 2| 3.5 < 0.68 < 0.65
t 2A1H 2 1.6/ 0.2 1.6/ 0.0 B E >100 15.9 1 0.7 < 0.55 < 0.68
i 5A7H it 209 0.7 14.7]  0.0] WAWKADREASEHE VK " 70 9.9 4] 4.0 < 0.58 < 0.54
8H3H [ 33.2]  o0.6] 255 0.0 K 2D Hifk e >100 1.1 2 19 <0.83 <0.67
10 K I 114% e
% I I FRAT 11A18H 2 9.0 0.5 7.9 0.0 I (0,575 1 fi3 >100 10.4 <1 0.7 <0.58 < 0.66
2A1H 3 2.3 0.3 1.7 0.0 15 5 1 e >100 10.8 <1 0.4 < 0.50 < 0. 60
547H it 20.5 0.2] 16.5 0.0[ kA EHFOTZIEAD 5 F VKA i3 75 16.3 6 4.9 <0.62 <0.54
. 8H3H s 33.6 0.3 27.1 0.0 BRSO D FVKE i >100 21.7 5 4.2 <0.74 <0.46
11 I — G L

A i FRAT 117187 it 6.6/ 0.2 85 0.0 B2 WK D3 E3 57 23.6 9| 5.2 <0.52 <0.63
2A1H [ 2.1 0.3 2.1 0.0 BBWKREORAEEH O e >100 35.1 3] 2.1 <0.63 <0.54
5/8H it 18.5  0.6] 13.1 0.0 K 7D Bk " >100 13.2 4| 2.4 <0.43 < 0.46

e 8H4H s 33.5 0.4] 27.7 0.0 HkAE RO D 5 F VK " >100 15.3 1 1.4 <0.70 <0.50
12 ELE:OINEF DI —

L Lok Bartt 11187 it 4.0 0.4 88 0.0 B % VR D ik " >100 15. 4 2 1.1 < 0.58 <0.63
2A3H [ 3.8] 0.5 2.4 0.0 B % WK B D 3 e >100 18.2 2 19 <0.77 <0.67
5/6H it 22.4 0.3 13.8] 0.0 FkHD S TVIK A " >100 13.5 5| 2.8 <0.48 <0.57

- 8H4H s 28.3 0.1] 26.9 0.0 BRSO D TR E i >100 16.9 12 2.6 <0.53 <0.64
13 I T S2i —

BT TR Bartt LLA19A it 19.5 0.3 9.2 0.0 I (0,575 1 i3 >100 17.8 2 1.1 < 0. 60 <0.54
2/13H I -0.1] 0.2 1.4 0.0 B VK 2D B E >100 19. 1 2 1.6 < 0.66 < 0.54
56H it 22.9 0.6] 14.5 0.0| BIDWIKB DI % H O 8 f 35 9.4 11 9.9 <0.56 <0.54

e 8/ 4H [ 30.3 0.8 26.3]  0.0] BADWKAHDKRALEH O F 93 13.6 6| 3.6 < 0.80 <0.71
14 I o : —

AL LI TR L) Bartt 11197 it 10.7] 0.7 9.5 0.0 JK 7D Eifk " >100 12.4 3 19 < 0.56 <0.70

2/12H I 4.1 0.7 3.2] 0.0] BVIKROKRZEHUT K f >100 16.3 3 1.6 < 0.56 < 0.63
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© | [ okm [k w | A | ss | TAHPEE ~ v 2 i
Tl 5 . | TRAKER . = WA | AR B
No. Kk A4 HTHTR © | (e o] (cm) (mS/m) | (mg/L) | () Cs-134 Cs-137
56H it 23.9 0.3] 19.8 0.0[ FRAEFOTZIEAD 5 T VKA [ >100 13.9 2 1.6 <0.63 <0.37
= 8H3H i 30.4]  0.4] 23.8]  0.0| HIBVKHOERAE MO [ >100 17.3 3 19 < 0.59 < 0.57
15 w1 o4 —

=l G Bartt 11A10A i 13.4] 0.4 13.8] 0.0 R D3 1 15 13.1 10| 5.4 <0.49 <0.50
2H2H i -0.5| 0.2] 18] 0.0 WAHVIRADREEHOH [ >100 16. 1 2| 12 < 0.68 < 0.66
5H6H i 20.1] 0.5 14.0] 0.0 JR I 0D 8 I e 5 OV 1 >100 16.9 <a | o7 <0.58 <0.65

R . 8H3H i 28.0 0.5 21.7] 0.0 B % IR 2 0 Bk [ >100 16.4 <a | o8 <0.63 < 0.62
16 P HE —

BRI BER Bartt 11100 & 15.2] 0.7 130 0.0 JR B Dk e 1 OV 3 (3 >100 13.0 2 [ 2.0 <0.50 <0.60
2H2H i .1 o6 338 0.0 B % IR 2 0 Bk [ >100 25.2 <A | 0.4 <0.75 < 0.60
5761 i 21.3]  o.5] 13.9] 0.0 FkHE BT EAROA (3 >100 15. 1 2| 1 <0.81 <0.54
8H3H i 320  0.4] 20.8] 0.0| H1BVKHOERAE MO [ >100 17.0 1] 12 < 0.65 < 0.50

17 [zl A —

R it Bartt L1LA10A it 17.7 0.8] 13.3 0.0 JR D Bk i3 50 13.0 9 4.9 <0.47 < 0. 60
2H2H &= 0.7 0.7 50 0.0 B % VK72 D 8 [ >100 15.8 a | o3 < 0.69 < 0.80
5H6H i 25.7]  o.6] 15.5] 0.0 IS AN i >100 13.9 3| 13 <0.66 <0.54
8H4H i 30.5]  o0.8] 24.7] 0.0 B % IR 2 0 Bk [ >100 18.5 1| 15 < 0.65 < 0.54

18 [oZz3)l A A —
jJE R Vi Bartt 11A8H i 17.3] 0.5 122 0.0 W1 2 WK 4 00 Bk i >100 17.6 <a | o7 <0.65 <0.67
o) i 2H2H &= 2.3 07 3.5 o0 B % IR 2 0 Bk [ >100 17.2 <a | o5 < 0.66 < 0.54
J X 5/6H it 23.0] 0.3 16.9] 0.0 HAHWKAOREAEHVE i 26 13.5 15 14 <0.83 < 0. 60
;. . e - 8H4H 4 32.2] 03] 231 0.0 B % WK 72 D 8 [ >100 16.9 3| 18 <0.78 < 0.50

19 ES AR & A —

TRVIE e Bartt 11110A & 120 04| 135 00| BIBVKZORAEEH O K [ 39 12.6 s| 7.5 <0.72 <0.65
2H4H i 0.4 0.3 2.6] 0.0 HEVIRAEDREREHE [ >100 16.2 2| 15 < 0.46 < 0.60
5761 i 211 o.5] 13.8] 0.0 R D 1 28 9.4 0] 9.8 <0.45 <0.60
8H4H i 33.2] 0.7 331 0.0 JR 4D 8 F >100 13.9 6| 3.4 < 0.62 < 0.80

20 B EIIE —

AL LI AL B Bartt 11A8H = 16. 1 0.3 14.8 0.0] BIDWIKBOfEA % H O b5 >100 17.1 <1 1.4 < 0.68 <0.72
2H2H i 4.4 03] 23] 00 B % R 7 0 Bk [ >100 15.6 2| 11 < 0.62 <0.63
5H6H i 21.3] 0.4 17.9] 0.0 W1 2 WK 4 00 Bk 1 75 18.2 5| 4.2 <0.72 <0.43

, . 8H4H i 31.4] 0.5 28.8] 0.0 R B D Hifi: F >100 21.7 2| 2.9 < 0.60 < 0.69
21 I R —

i) i 1 Bartt 11A8H & 12.6] 0.5 11.6] 0.0 W1 2 WK 4 00 Bk i >100 22.0 a| 1o <0.54 <0.62
2A3H i 3.8 0.5 3.0 0.0 MIBVIKHRDORAEE MO [ >100 24.3 <a| o9 < 0.56 < 0.54
5A8H i 20.9] 03] 17.3]  0.0] HIBVIKHORRAEH O K (3 25 15.7 17 18 <0.66 <0.74

e 8H4H i 32.4] 0.5 3.7 0.0 B % WK 2 0 Bk F 88 19.2 1| 51 <0.53 < 0.62
22 ol R AR —

i)l i Bartt 111R & 12.8] 04| 16| 0.0] HBVKZORAEEH O K [ 58 9.7 6| 6.6 <0.68 <0.57

2A3H I 4.4 0.4 19] 0.0 B % IR 7 0 Bk [ >100 18.0 2| 15 <0.72 < 0. 64
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- JER
FRIU AT . — L -
S i iR | ek . R SHEM TLRIE [Ba/ke (HLTR) ]
Yo K, e Tkt © @ o) |mer P ST el N IS [ELESETE i
om, LB | H Sy | HREESY | LD 53| b5y | MRRD S| v ko) 15y (g/cn’) Cs-134 Cs-137 &t
- ; P ; ; . —
- - I 5J1TH 20.2] 04[] 153 3 i | 0.0 | 5.8 (381 242263 3.7( 0.0 18| 93.7]2710 | W <6.0 8.9 + 2.4 8.9
11J18A 12,7 0.5 123 3 I1E 0.0 19335 330|245 53| 05| 1.3 | sa2|273| - <4.6 9.1 + 1.8 9.1
- 5]7R 5.7 0.4 14.6 3 s | 0.0 | 0.5 158|258 |40.9 [ 136 | 17| 17| 912|270 | W-H <2.8 3.9 +0.98 3.9
2|5 G P 5]
i it i LJI8H 4.0 03] 131 3 i 0.0 | 10159 [15.4 355 [26.7 | 3.3 2.2 sa8| 2751 | #-# <3.4 5.2 + 1.4 5.2
5J181 [ 20.3] 0.3 147 3 53 0.0 | 46| 2.4 [543 |34.8| 12| 09| 18| 887 [ 2699 | #-# <1.9 22 *3.7 22
- 8J13H [ 31| 0.4 250 3 e 0.0 | 1of4az7 [ar7[12a| oaf| o7 | 11| szafz2722| #-# <7.4 21+ 3.7 21
3K U —
‘ ERIUE e 11J710A i 13.4) 0.4 127 3 0.0 02223 |529 218 05| 1| L2]| 784|272 | W@ <11 36 + 3.8 36
2J141 [ 4.3 o2] 36 5 0.0 0.4 348|428 [182] 16| 12| o] 8062732 | W@ <5.8 38 4.2 38
N . 5/18H i 22.9] 04| 15.0 3 0.0 | 209|455 [4r.9| 83| o1 | 03| 1o one|2747| #-w <179 21+ 3.6 21
k= SO — =
el TR e 11J710A i 1.1 04 133 3 0.0 | o1 [261 [42.7 |23 | 20| o8| 1o 817|278 @@ <55 27 +3.5 27
. 57R [ 183 0.7 155 3 0.0 [31.5 [14.7 [17.5 [23.2 | 6.4 | 5.6 | 10| 780 [ 2727 W <1.3 43+ 5.1 43
5 =R st Gk 51
o S vt 11/19A E 18.0] 05 127 5| 4V —71 0.0 [ 00| o3 [10.1[788| 80| 21| 07| 7322742 W <8.0 14 +3.0 14
5H7H [ 21.3 0.7 10.4 3| MRS 0.0 [ 0.2 48| 55 [30.2[34.1[23.4] 2.0 54.5|2.698 |- <8.4 36+ 4.1 36
. 8J12/ [ 21.4] 05| 223 5| kAU —7 0.0 | 0.9 20 10423387108 4.3 67.3 [ 2502 W <6.3 16 + 2.8 16
6 BRI i T
) i st 11/19A £ 153 07| 119 5| AV —7H 0.0 9.1 268|329 [27.0] 23| 1o| 09| 782 2613| - <4.0 4.2 * 1.3 4.2
2J11A [ 2.4 04| 04 5| WERE 0.0 [15.3 182 142|445 | 58| 07| 13| 79.2 [ 2740 | # -8 <2.3 5.2 +0.78 5.2
5171 £ 13.8] o8| 123 3| e 0.0 81| 53| 6.7|5.1[196 4.1 1.2 90.6 2742 W <55 10 +23 10
. « 8J12/ [ 30.7| 07| 22.0 5| wie 0.0 | 26| 23| 5.3|57.3 267 3.2 2.6 | 77.5 | 2.689 W <7.3 11 +3.2 11
7 BRI A T
) FHH st 1JI11A £ 1.4 o5 110 5| wie 0.0 7.9 183|353 [34.9] 25| 06| 05| 7872670 | @-# <4.3 8.4 + 1.8 8.4
2J11[ N 0.4 0.4 14 5| 10RO EE 0.0 1507|198 200 21| 11| 12| 8092675 | @-# <3.1 9.0 + 1.2 9.0
570 [ 23.1] 0.5 13.7 3| s 0.0 130 | 328 |e6n1 | 55| tal 1| ss7[272| #-# <3.9 7.7 _* 1.7 7.7
s SR e S 8J12/ [ 20.6] 0.3 279 3| E 0.0 [20.9 [12.8 | 6.2 [20.1 | 5.7 [11.1 | 5.2 442 [ 2613 Mt <6.7 39 3.6 39
o 1JI11A E 1.8 07| 127 5| AU—71 e 0.0 [10.4 | 13.4 [ 30.6 [44.2 | 0.2| 0.7 | 05| 79.9 | 2.643 | - <2.9 6.2 + 1.2 6.2
il 2J12/ AT 0.9 03 25 5| 4V —71 e 0.0 25218 |13.1 [49.2 106 | 0.8 [ 20| 821|273 | W@ <56 17 +2.9 17
u 5171 £ 20.2] 02| 173 3 ) e 0.0 0.5 23158688 [10.7| 0.6 | 1.3 80.4 [ 2685 W <9.5 30 + 4.1 30
9 B oy ST 8J13H [ 26.5] 02| 246 5| AV —7 | #eER | 0.0 | 150 | 53 [10.3 329 229|101 | 35| 75.3 | 2.651 W <67 49 +5.3 49
i - 1A11A I 12.8 0.3 12.7 5| AV—718 | BBR 0.0 [12.8] 56| 9.8[53.8|14.4[ 25| 1.1 | 78.9 | 2.706 W <6.6 2 *+ 3.5 26
p 2J11A £ Le| o2 16 3| AV -7 0.0 1.3 338|267 [34.5| 18| 0.2 | 1.7] 8282782 | - <6.7 29 +3.4 29
n 5171 [ 209 07| 141 3 ) 0.0 | 0.1 | 0.6 0.4 |288 [53.8 112 5.1 6252624 |- h <8.0 62 +5.2 62
0| A (&) )16 Esar 8J13H [ 33.2| 0.6 262 5 ) 0.0 6.4 16103680 89| 35| 1.3 7612635 W <9.0 22 *+3.8 22
% N 117187 £ 9.0 05 9.1 5| 4V —71 0.0 1.8 28270653 | 1.6 0.6 [ 0.9 | 76.7 2640 | - <85 23 +3.5 23
2J11[ £ 2.3 o3[ 18 3| AV -7 0.0 0.4 67|19 |60.3| o1 | 14| 12| 7852732 W <7.0 20 +3.3 20
5171 [ 20.5] 02| 151 3| wr 6.1 20.3 | 119 | 8.4 [326 136 62| 1.0| 819|268 [w-m-onr <6.0 18 + 3.4 18
8J13H i 33.6] 0.3 272 5| R 0.0 [15.6 | 7.7 | 7.2 |45 [20.7 | 5.0 | 23| 7142654 |[#- b <5.7 23 +3.2 23
11 KEN — it F
# it R 11J]18A [ 16.6] 0.2 93 5| 4V —71 i 0.0 5.4 139 |21.3[50.8 | 47| 28| 11| 70.9|2.586 | - <8.6 32 +4.3 32
2J11A [ 2.1 o3[ 23 5| wr e 0.0 | 0.4 |15 250551 5.3 15| r2| 77.1 [ 2701 W <1.9 34+ 4.1 34
5J181 i 185 0.6 14.3 3| wr e 0.0 | 0.0 14194703 55/ 2.8 0.7 818 [ 2700 W <8.8 15 +3.2 15
. 8140 [ 33.5] 0.4 279 5| sV i3 0.0 1| rof| 67 |714a 161 | 204 13| 774 2688 W <8.8 23 +3.8 23
12 BIEI Lot —
IRk & e 11J]18A [ 4.0 o0.4f 90 5| 4V -7 e 0.0 22105269 [56.6| 23| 0.9| 06| 7802621 | W - <6.4 25 +3.3 25
2J13A [ 3.8 o5 26 5| 4V —71 e 0.0 0.0 171 [48.1[30.9] 06| 15| 1.8 | 786 | 2668 | - <6.9 17 +3.1 17
5161 [ 22.4] 0.3 138 3| s i 0.0 [19.3 |20.1 [45.6 [12.3 | 19| 00| o8| 8522648 | - <6.1 20 + 3.4 20
. 8J14A i 28.3] 0.1 261 5| AU —7 | d@iR | 00| 77| 72| 40]19.3[39.8 143 | 7.7 ] 58.1 284 [ ok <6.8 63 + 4.9 63
13 IR SRic — A
BRI S e 11197 i 19.5| 0.3 112 5| AU—71 fi3 2.0 [28.2 203 [13.2 [13.8 [ 17.7 | 2.2 | 2.6 | 82.5 | 2.638 | - <6.1 31 +3.6 31
2J13A i 0.1 oz 15 3| e 3 0.0 85 [627[19.8| 7.6 [ 05| o1 | o8| 9432702 #E-w <55 1 +2.4 11
5161 i 22.9]  o0.6] 135 3| e BER | 0.0 | 0.1 ] 0.8 1.6]40.7 [44.0 | 9.3 | 3.5 | 73.6 | 2.689 [f -k <9.9 35 +5.0 35
" 8J14A i 30.3] 0.8 266 3 B8 WA | 00| 23] 40| 3.6 |57.1 262 | 41| 27| 79.1 [ 2.830 W <10 5.2 + 0.45 5.2
14 a3l 2 5 —Pai
ek AR OLHC) e 11197 i 0.7 07| 113 5| AU—71 fi3 0.0 [ 00| o1 | o1 |11 646181 6.0 6.6 [ 2659 W <9.2 24+ 4.5 24
2J12/ [ 4.1 07] 3.4 5| AV -7 I 0.0 00| 39| 22426 |41.8]| 53| 4.2 69.9 [ 2,720 W <77 20 + 3.7 20
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Y. o A At © |FEE ap | s b el P IS
cm) TRl I I R I I L) Cs-134 Cs-137
5161 [ 23.9] 0.3 187 3| icsuniEg e 0.0 | 4.8 27,0 [446 [21.1 ] 0.6 0.0 | 1.8 ] 84.6 [ 2.681 | @~ <5.2 12+ 2.4
- 8J13H [ 30.4] 04| 239 3| s e 0.0 85280 [37.0 226 0.7 15[ 1.7| 79.5 | 2.695 | - <6.2 15 +3.2
15 =1 3] e 5 .
W) G e 111107 [ 13,4 0.4f 140 5| 4V —71 e 0.0 o.1| 1o 63[69.8 172 16| 40| 72,4 2.706 W <85 33 + 4.1
2J12/ [ -0.5] 0.2 20 5| 4V —71 e 0.0 2.1 128|463 [34.3 | 25| 09| 11| 805|272 | - <6.9 21+ 3.4
5161 [ 20.1] 0.5 135 3| e e 0.0 [36.3 |39.4 [228 | 1.1 ]| 00| 0.1 [ 03] 90.1 2748 3 <5.4 17 +2.9
. 8J13H [ 28.0[ 0.5 220 3 18 e 0.0 0.9 562|348 62| 0.3| 0.6 1.0| 886|280 | W@ <5.7 22 +3.6
16 ] A —
R e e 11J110A E 5.2 07| 130 3 ) e 0.0 0.9 488|358 [12.2] 0.2 0.1 | 20| 9292763 | -w <82 23 +3.6
2J12/ [ L1 o6 36 3 18 e 0.0 25 640|286 | 43| 0.1 | 0.0| 05| 86.7 2782 | #-w <6.4 19 +3.1
5161 [ 213 0.5 143 3| s e 0.0 128|643 200 | 19| 0.7 02| 03| 8642678 | W-w <11 3.9 +0.42
8J13H [ 32.0 0.4 212 3| s e 0.0 0.3 42,7 [30.9 [20.4 ] 42| 11| 04| 8402688 | w-# <17.0 7.7 *2.3
17 Wkl 2 i —
v Hif e 11J110A i 1.7 o8 133 5| i e 2.0 85 |23.2 333|235 5.4 | 23| 18| 825|271 | W@ <56 9.3 + 2.4
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